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X. MULTIPLE CHOICE: Select the best apsver., (4s%

1) A corxrporation repoxted 19X nat income of $156,000. on January 1, 19X, 60,000 shares of common stock were
outstanding. An additional 10,000 shares were sold and issued on April 1 and, on october 1, 5,000 shares were
purchased as treasury stock. Eaxrnings per share (rounded to the heaxeat cent) ia:

a, $2.32 b. $2.3s

o. $2.40 ., 4. $2.60

®. None of the above
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Extraordinary items;

a. Are defined as those ltens which are either Unusual in nature or infrequent in oCcurrence.
b. Are not included in net income.

G, May include prior. perloqa adjustments.

d. All of the above,

®. None of the above.

3) At the end ot ite firmt yeax of operations, and before the adjusting entxiea at December 31, 19¢, a company
had a balance in accounte receivable of $125,000. The A9C adjustmenta included a 81,000 writeore of an
uncollectible account and recording bad debt exponae of $1,750. What should the conpaﬁy xeport on ita statement
of financial Position at December 31, 19C, as net accounts recelivable?

a. $124,000 b. $128,000

c. $124,250 d. $123,280

®. None of the above

4) on January 1, 19A an operational asset was purchased that had a list price of $35,000 (eatimated usetul 1ife
3 yeaxs, residual value $3000), terma 3/10, n/60. Freight ana installation costa paild were $2,550. The invoice
was pald on Januaxy S, 19A. The machine will be depreciatad on the SYD basiam) therefore, the depreciation
expense for 19B should be: .

a, §$8,000 b. $8,680

©. $10,500 d. $8,400

@. None of the above

.

5) A esmall corporation reported revenues of $28,000 using a cash basis accounting system. Total customer
Payments received but not earned were $2,100. Services pPerformed but not yet collected amounted to $3,400.
Expenses incurred but not Yot paid totaled $400. Expenses paid but not Yot incurred totaleda $125. What total
revenue amount ahould the company report under the accrual system?

a. $29,825 b. $29,850

c. $29,230 d. $29,300

®. None of the above

6) Inventory items Purchased on credit that are correctly debited to 19B purchases, but not Properly inciuded
in the 198 ending inventory cauame:

a. 19B aasats to be underatated and 19p pretax income to be overstated.

b. Both 198 Pretax income and 19p assats to be understated.

C. Both 19B aassets and pretax income to be overxstated.

4. Both accounts Payable for 198 and 19p pPretax income to be overatated.

®. None of the above.

7) The percentaqo—o!-co-plet!on and complated contract methoda of accounting for long~term constxuction
contracts differ in the following ways except:

4. One requires estimates of completion during the construction period andg the other does not.

b. One recorda income(loss) each pPerlod during the construction period and the othexr one does not.

€. They xeport diffexent inventory amounts during the construction period.

d. They cause a different cash inflow during the construction period.

®. All of the above are differences.

8) The following data are avaflable for 19A (in 000’s)1
Retained eaxnings, January 1, 19A.........;................... 54
Prior period adjustment (a debit, pretax and subjeFt to tax).. as
Net income (after tux)..................... et eernenenanann. 25
Dividends declared (c--h)..................................... a1 1_()
The income tax rxate is 40% .

The balance of xretainedq earnings at Decembex 31, 19A, wass
a. $359 b. $77
c. $79 d. $e3
®. None of the above

-.9) In evaluating a Gompany‘s ability to repay a 60-day loan, a creditor would Probadbly be most interested in
which of the tollowlnq ratioa?

4. The debt ratfo b. The prlce-oarnlnqs ratio .
©. The quick ratio d. The number of tines interest earned
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A company began business on January 1, 19A. Information about its endin
methods is given below. Using this {nformation you are to choose
questions.

9 inventorles under various valuation
the beat answer to each of the following three

Ending Inventoxy

Lower-of
LIFO Cost FIFO Cost Markat Cost-or-Harket
December 31, 19A $10,200 $10,000 $ 9,600 $ 6,900
Decexber 31, 198 9,100 2,000 8,800 8,500
Decewmber 31, 19¢ 10,300 11,000 12,000 10,900

10) The inventory basis which would show the higheat incowe for 19A ims
a. LIFO cost b. FXIFO cost

. Narket d. Lower~-of-cost-~or-market

11) The fnventory basims which would show the higheast income foxr 19D ism:
a. LIFo coat b. FIFO cost
O. Harket d. Lower-of-cost~oxr-market

12) For the yearx i9p,
cost-ox~-market basia?
a. $400 higher b. $400 lower
©. $600 higher d. $600 lower

how much higher or lower would income be on the FIFO cost basis than on the lower-of-

13) Undex a 3job-ordex aystem of cost accounting, the dollar amount of the journal entxy for transferxing
inventory from work-in-process to finished 9ooda 1a the sum of the coasta charged to all jobs

a. started In process during the pexiod, S

b. in proceas during the porioa,

C. cowmpleted and sold duxing the period.

d. completed during the period.

14) A pany had 1 of $50,000 uaing variable coating for a given period.
fox that period were 13,000 units and 18
overhead rate was $2.00 per unit,

Beginning and ending inventories
+»000 units, respoctively. Ignoxing inoome taxes, if the bhdq.t.d fixed
what was the opéxating incowe using absorption coating?

a. $40,000 b. $80,000 ‘

c. $60,000 d. None of the above

18) In a JIT conting system, factory overhead appliod is éharqod directly to1i
a. raw and in-process inventorlea
b. cost of goods asold
G. finished goods inventory
d. work in process

IX. !14!!

Hartman Editorial Services has entered into the following two transactions involving trade-ins of Plant assets:
(A} A truck which had cost $12,000 was traded-in on a new truck with a 1iat price of $16,800. The trade-~in
allowance on the old truck was $4,500, and the remaning $12,300 was paild in cash. At the date of the trade~
in, the old truck had been fully depreciated to its patimated residual value of $2,000,

{(B). A word processor with a cost of $6,700 was traded-in on a new word processor with a liat price of $7,900,
The trade-in allowance was $500, with the remalning $7,400 coat being pald in cash. At the date of thim
transaction, the accumulated depreciation on the 01d word proceassoxr amounted to $3,200.,

(1) Prepare journal entries to record each of these exchange transacticns. Assume all dollar amounts are
material. (The asset accounts used for trucks and for word processors are entitled Vehicles and Office
Equipment, respectively.)

(2) Compute the depreciation expense that Martman Editorial Services will recognize for financlal statement
purposes on each of the newly acquired assets in the year of acquisition. Assuwe that each asset will be
depreciated over five years using the straight~line wmethod, with an estimated residual value of $2,000.

III. (2% .
The financial statement of Forsby Co:bozatson provides.the following information for the current yeari
) Dec. 31 Jan. 2

Accounts recelivable . $38,000 tq@.ooo
Inventory ) 41,000 48,000
Prepald expenses 2,800 1,000
Accounts payasble (for wexrchandise) 23,000 26,000
Acorued liabilities 4,000 © ,000
Net sales 3%0,000

Cost of goods sold 180,000
Operating expenaes (including i

deprecliation of $15,000) 120,000

Using this information, compute for the current year:

(1) Cash xeceived from customers

(2) Cash payments for purchases of merchandise '
(3) Cash payments for operating expenses

(4) Net cash flow from operating activities
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IV. (18%)

budget follows.

Sales in units
Sales @ $20 and $30

Variable expenses € $14 and $18

rixed expenses
Net income

V. (11%)

tion loflows:

Contrxibution margins ¢ $6 and $12

M N TOTAL
150,000 50,000 200,000
$3,000,000 $1,500,000 $4,500,000
2,100,000 900,000 3,000,000
900,000 $ €00,000 $1,500,000
1,200,000

(1) Compute the breakeven point in units, assuming that the planned
(2) Compute the breakeven point in units if (a) only M were sold and (b) 1f only N were sold.
(3) suppo-oA 200,000 unlits were mold, but only 20,000 ware N. Compute the: net iIncome. Compute the breakeven
point if these relationships persisted in the next period. Compare your answers with the original plans and the
answer in roquirement 1. That ia, what is the major lesaon of this pxoblem?

$ 300,000

males mix is wmaintained.

The lollowing Information pertains to Graham Company. The June 30, 1991, bank reconcllia-

Cash Bank
Account Statement

BalanceonJuned0 ............ $25,524.48  $24,059.08
Add: Deposit not credited by bank . . . . 1,256.80
STotal L $26,115.88
Deduct: Outstanding checks:

No.724 .. ................ 8 2460

No.88BB...........000..., 2000

No.B96 ..........00004... 19140

No.897...........00..... 25020

No.B98...........000.0... 10520 591.40
Adjusted cash balance, June 30 . . . .. $25,524.48  $25,524.48

The July bank statement appears below:
BalanceonJuly 1 ............ $24,859.08
Deposits during July . ... ....... 7,255.92 $32,115.00
Canceled checks returned:;

No.724 .. ...............$ 2460

No.896................., 191.40

No.897 ....... 250.20

No.898....... 105.20

No.899,...... 25.14

No.900,.......... .o . 1,799.40

No.go2....... . .. 1,262.56

No.904 .., ............ . 58.68 $ 3,717.18
NSF check of Manley Company . . . 186.64 3,903.82

Bank stalement balancs, July 31 . . .

The cash receipls deposited in July,

Checks written In July are listed belo
No. 899 ...$ 2514
No. 800 ... 1,799.40
No. 901 . .. 37.00
No. 802 ... 1,262.56
No, 903 . ., 79.60
No. 904 . . . 50.68
No. 905 ... 1,456.00
No. 906 . . . 20.00

$26,211.18

including receipts of July 31, amounted lo $6,904.40.
w:

The cash balancé per the ledger on July 31, 1991, wés $27,688.50.

Prepare a bank reconciliation as o! July 31, 1991, and any necessary journal entry or entries

‘10 correct the accounts,

Goldman Cowpany has two products, a standard (M) and a deluxe (N) version of a luggage carriexr. The income
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